KEY REVIEW

True-False Questions

_____
1.
Finite loading occurs when work is assigned to a work center simply based on what is needed over time.  

_____
2.
Work center is an area in a business in which productive resources are organized and work is completed.

_____
3
Initiating the scheduling of work is termed dispatching of orders.

_____
4.
In a machine-limited system, people are the key resource that is scheduled.

_____
5.
An objective of work center scheduling is often to minimize machine or labor

utilization.  

_____
6.
In the first come, first served priority rule, orders are placed on the top of the


stack when they arrive and the operator picks up the order on top to run first.

_____
7.
Slack time is the difference between the times remaining before the due date


minus the processing time remaining.

_____
8.
In Johnson’s rule the objective is to minimize flow time.  

_____
9.
In a dynamic, complex environment, priority rules should be dynamic and



computed frequently during the course of a job to reflect changing conditions.

_____
10.
A daily dispatch list is used by the supervisor to monitor the work-load-capacity 


relationship for each workstation.

Multiple-Choice Questions

_____
11.
Shop floor control involves:




A.
Expediting late orders




B.
Rushing critical orders




C.
Reviewing the status or orders




D.
Controlling the status of orders as they are being worked on.




E.
All of the above

_____ 12.
As with other production activities, the important point in work-center scheduling is to maintain a ____________   perspective to assure that work center objectives are in synch with the operations strategy of the organization.




A.
Systems




B.
Random




C.
Static




D.
Dynamic

_____
13.
The _____ priority rule schedules orders in the order they arrive in the



department.




A.
First Come, First Served




B.
Shortest Operating Time




C.
Due Date

D. Slack Time Remaining

_____
14.
Jobs with the shortest completion time or the shortest processing time are run


 first in the _____ priority rule.




A.
First Come, First Served




B.
Shortest Operating Time




C.
Due Date




D.
Slack Time Remaining

_____
15.
Slack time is calculated as the difference between the time remaining before the 
due date minus the




A.
Number of remaining operations




B.
Processing time remaining




C.
Shortest operating time




D.
Arrival time

_____
16.
Which of the following is not a standard measure of schedule performance used


 to evaluate priority rules?




A.
Meeting due dates of customers or downstream operations




B.
Minimizing flow time




C.
Maximizing the time a job spends in the shop




D.
Minimizing work in process

_____
17.
The optimal priority rule for scheduling jobs on one machine to minimize the


average completion time is:




A.
SOT




B.
LCFS




C.
STR




D.
QR

_____
18.
The __________ is used by the supervisor to monitor the workload-capacity relationship for each workstation.




A.
Daily dispatch list




B.
Scrap report




C.
Shortage list




D.
Input/output control report

_____
19.
Status and exception reports include which of the following?




A.
Scrap reports




B.
Rework reports




C.
Shortage lists




D.
All of the above

_____
20.
Gantt Charts




A.
Can help plan and track jobs in a job shop




B.
Can be used for project planning




C.
Can be used to coordinate a number of scheduled activities




D.
All of the above

Problems

21.
The following table gives the operation times and due dates for five jobs which are to be processed on a machine


Job

Due Date

Processing Time (days)


A

6 days hence


5


B

7 days hence


3


C

4 days hence


4


D

9 days hence


7


E

5 days hence


2

A.
Assign the jobs according to the shortest operation time and calculate mean flow time.

B.
Assign the jobs according to the minimum slack time and calculate the mean flow time.

C.
Assign the jobs according to minimum critical ratio and calculate mean flow time.

D.
What sequence should be used if the objective is to minimize mean flow time?

22.
The following six jobs must be processed on machines I and II in sequence; that is, each job should be first processed on machine I and then on machine II.  Times given are in days.


Job

    Machine I


    Machine II 




Operation Time

Operation Time

A


8



6


B


4



9


C


15



0


D


7



9


E


3



7


F


12



5

Job C is an exception because is has to be processed only on machine l.  The due date for all six jobs is 49 days from now.  Determine the order in which jobs should be sequenced (a) using Johnson's rule, (b) using least slack per remaining operation rule, and (c) using critical ratio.  (d)  Which method would you use and why?
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